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You may refer to the following table, which shows the relative activities of a number of metals,
when answering questions that involve metals:

Metal Activity

Ca
Na
Mg
Ti

Al

Zn
Cd
Ni

Sn
Cu
Hg
Ag

4

most reactive

least reactive

You may refer to the following table, which shows S| prefixes, their symbols, and their values,
when answering questions that involve the conversion of units:

S| Prefix Symbol Value
tera T 1012
giga G 10°
mega M 109
kilo k 108
deci d 10~
centi c 102
milli m 108
micro J 108
nano n 10°
pico p 1012

You may refer to the following formulae below when answering questions that involve calculations:

m

O =mcAT

pH = —log[H+]

[H"][=10""

[H"|x[OH |=10"

pH+pOH =14



